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(19) D [#i] (These events will make) you excited and happy(.)

(1) [#I] Yes, I did.
3 {2) [##] He gave me a guitar.

9) (3] [#1] How long have you played the piano?
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{1, ® [#] She was talking about her experience.
@ [#1] Because they were poor.
6 @ o
{3) A [#l] we can use things we have learned at school (9 £8)
(17) B [#l] we should be interested in many things (788)
A [#l] (The graph shows that) more than fifty percent of the students in this class don't
have enough sleep. (14 F&
7

B [#l] (To get enough sleep,) we should not watch TV or play video games late at
night. Also, we should start to do our homework soon after we go home.
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